sl - SR x1sx

tEBI DX DRE |
NO.2 s

Il » 5% x IZHAILT x = 6 DrE
y & x O XNTHELEIW,

21 y Y x ITHEBILT x = -7 Or=
Yy ¥ x O RATHELEIW,

3] y A% x ICHBHILT x = -5 Hr=
y ¥ x ® RATERLEI,

4 y Y x ICEEFIL T X = 6 Or=
DO vy x x 0 RTHELERIW,

Q@ WRIEBEETLIV,

® x = -3 OrE y DEERDHEI,
@ y = 5 OrE x OEETROL I,

® x OEFH. -5
fF->TELRETW,

[IA
33
[IA
w

Nt =,

Rt Cix o EE 7Y b
http://chugaku. manabihiroba. net/

Y

O DOIR-EL1-2

= _63 —C\‘% %o

= _4 ’(\‘% %o

= _|2 T\\%%o

y DEB*FES %



sl - SR x1sx

77 A
iR &
I y = x T
x = 6 nrE, ¥y = -54 f2h5
L7=9> T, y = -9 x
2
y = ax T
x = -7 orx, vy = -63FEHh5
Lds>T, Yy = 9 x
3
y = ax T
x = -5 @orE, ¥y = -4 Epb
LD T, y ——i—x
5
4
® y = ax <
X = 6 DrE, y = -12 £95
y = =2 x
@) LB EEE -2
® y = -2« Iz x =
@ y = 5 RANTBr 5 = -2
x =
® x = -5 0Or= y = 10
x = 3 ODrE y = -6
y DX -6 = y = 10

Rt Cix o EE 7Y b
http://chugaku. manabihiroba. net/

X

5
2

-54 =

-63

-12 =

O DOIR-EL1-2

a X (=7

-3 ERANTBr Yy

= 6




